
MEEG 3013  Quiz #2 
 

A 5-ft concrete post is rein-
forced by four 0.75-in.-
diameter steel bars, where 
Es = 29 × 106 psi, αs = 6.5 × 
10−6/°F, and Ec = 3.6 × 106 
psi, αc = 5.5 × 10−6/°F. If 
temperature rises 90°F, de-
termine (a) the normal 
stresses σs and σc induced in 
the steel and in the concrete, 
respectively, (b) the change 
in length δpost of the post. 
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post sT sP cT cPδ δ δ δ δ= − = +      2 
 

3753.63 lbs cP P P= = =      2 
 
 

(a)      2 2.12 ksisσ = −
 

 60.3 psicσ = +      2 
 

(b)      2 post 0.0307 in.δ = +


